Varied Fluency
Step 7: Subtract Two 4-Digit Numbers 3

National Curriculum Obijectives:

Mathematics Year 4: (4C2) Add and subtract numbers with up to 4 digits using the formal
written methods of columnar addition and subtraction where appropriate

Mathematics Year 4: (4C3) Estimate and use inverse operations to check answers to a
calculation

Mathematics Year 4: (4C4) Solve addition and subtraction two-step problems in contexts,
deciding which operations and methods to use and why

Differentiation:

Developing Questions to support subtracting two 4-digit numbers with at least one
exchange. Pictorial support for all questions, including place value grids. No use of zero as
a place holder. All calculations presented as subtractions.

Expected Questions to support subtracting two 4-digit numbers with more than one
exchange. Calculations presented in column format or using place value grids. Some use
of zero as a place holder. Some questions involving the inverse.

Questions to support subtracting two 4-digit numbers with more than one
exchange. Calculations presented in a variety of formats including, column, linear, bar
model and part whole model. Use of zero as a place holder. Some questions involving the
inverse and some multi-step problems.

More Year 4 Addition and Subtraction resources.

Did you like this resource? Don’t forget to review it on our website.
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1a. True or false?

1b. True or false?
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2a. Spot the mistake. 2b. Spot the mistake.
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3a. Use the column method to solve:
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3b. Use the column method to solve:
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4a. True or false?
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4b. True or false?
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5a. Spot the mistakes.
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5b. Spot the mistakes.
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6a. Use the column method to solve:
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6b. Use column method to solve:
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7a. True or false?

6 5 0 5
- 4 9 7 4
1 6 4 9

VF

7b. True or false?

7 1 0 1
- 3 8 5 4
4 2 4 7
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8a. Spot the subtraction mistake.
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8b. Spot the subtraction mistake.

8,002
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9a. Use the bar model to solve:

[7,008 -1,329 - = 4,369]

9b. Use the bar model to solve:

[5,001 -1,329 - = 2,587]
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Varied Fluency
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Developing
1a. False. The correct answer is 1,128.

2a. The hundreds have been subtracted
incorrectly. The correct answer is 1,268.
3a. 1,904

Expected
4a. False. The correct answer is 2,406.

5a. 5,906 — 857 = 4,549. The ones and
hundreds have been subtracted
incorrectly.

6a. 7,235

Greater Depth
7a. False. The correct answer is 1,531.

8a. 6,005 - 2,691 - 2,446 = 868 or
6,005 -2,691 — 968 = 2,346 or
6,005 -2,446 - 968 = 2,591

9a. 1,310

Varied Fluency
Subtract Two 4-Digit Numbers 3

Developing
1b. True

2b. The hundreds have been subtracted

incorrectly. The correct answer is 1,954.
3b. 4,264

Expected
4b. True

5b. 3,057 - 974 = 2,083. The tens and
hundreds have been subtracted
incorrectly.

6b. 2,026

Greater Depth
7b. False. The correct answer is 3,247.

8b. 8,002 - 1,459 — 5,878 = 665 or
8,002 - 1,459 -769 = 5,774 or
8,002 -5,878 - 769 = 1,355

9b. 1,085
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